MppaunmoHanbHble HEPpaBEeHCTBA
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1. Pemnre HEpaBeHCTBO <2x+ 11— ;) (m -2+ <\/ -3— 2x> ) > 0.

2. Pemute ypaBHeHHE \/x—|—4\/x—4 +1/x—4V/x—4=4.

3. Pemute ypaBHeHue \/x+2\/x— 1+4y/x—2vx—1=2.
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4. Pemnre HepaBEHCTBO | x + —
P ( x) < VvVi—x—1

5. Pemute HEpaBEHCTBO

( 4> <m1>225<\/x28x+161>2
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X VvVo—x—1 vVo—x—1
Va3 —6x2 + 14x—7
6. Pemute HepaBeHCTBO /7 — x < .
P vVx—1
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6x2 —5x ~ \Jex2—5x+1—1
V3 —Tx2+14x—5

7. Pemiure HEpaBEHCTBO

8. Pemute HepaBeHCTBO /5 —x <

vx—1
Va2 —2x+1—Vx? +x _
9. Pemuute HepaBEHCTBO <
x2+x—1

10. Pewure HepaBEHCTBO: (x —x— 6) v8—x<0.
11. Pernre HepaBeHCTBO: \/x2 422 < 5.
12. Pernre HepaBeHCTBO: \/ x2 + 34 > 6.
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13. Perure HEpaBEHCTBO: ()H_ - > vV —=Tx—x2>0.

44+4x x24+9x+20
2/x+3 < 3vVx+3
x+1 = x+2
X

14. Pemnite HEpaBEHCTBO

15. Pemute HepaBeHCTBo x L

-lk\r—

16. Pemnte HepaBeHCTBO

x—4> Véx—x2<0.

< 7x+12 3—x

17. Pemute HEPABEHCTBO ( —-3— —> <? +2+(vV—1—2x) >



